

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$

CHANGING THE SUBJECT OF A FORMULA

Make x the subject of each of the following formula:

1) $ax+b=d$ 2) $\frac{a+b}{x}=d$ 3) $a(b-x)=c$ 4) $ax^2-b=c$
5) $a+b=c\sqrt{d-x}$ 6) $ax+b=cx-d$ 7) $\frac{x-a}{x+b}=c$